1.

2.

H7 0K

PAPER-II
TRIBAL AND REGIONAL LANGUAGE-LITERATURE

Signature and Name of Invigilator

(Signature)
(Name)
(Signature)
(Name)

4

Time : 1 /4 hours]

OMR Sheet No. :

Roll No.

(To be filled by the Candidate)

(In figures as per admission card)

Roll No.

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 12

Number of Questions in this Booklet : 50

w

PN

Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given.
(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.
Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on
the correct response against each item.

Example :

where (C) is the correct response.

Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper I Booklet only. If you mark
at any place other than in the circle in the OMR Sheet, it will
not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.
You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry original
question booklet and duplicate copy of OMR Sheet on
conclusion of examination.

(i)

. Use only Blue/Black Ball point pen.

. Use of any calculator or log table etc., is prohibited.

. There is no negative marks for incorrect answers.

. In case of any discrepancy in the English and Hindi versions,

English version will be taken as final.
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TRIBAL AND REGIONAL LANGUAGE-LITERATURE
Paper - 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

questions are compulsory.

Who 1is the author of the book
‘Kahani Jharkhand Andolan Ki’ ?

(A) E.N. Horo

(B) Jaipal Singh
(C) Colonel Dalton
(D) Balbir Dutta

‘Singbonga’ is related to
(A) Munda

(B) Kharia

(C) Oraon

(D) Sadan

What is ‘Giti Ora’ ?
(A) Kotha Ghar
(B) Yuba Grih
(C) Jhopri

(D) Pakka Makan

How many tribes were scheduled in
Jharkhand in 1872 ?

(A) 26
B) 32
©) 18
D) 29

Which 1is scheduled caste in the
following ?

(A) Ghasi
(B) Savar
(C) Korwa
(D) Mahli

Which is called ‘Arandi Bonga’ ?
(A) Bhut Bhagane Ka Mantra

(B) Bibah Mantra
(C) Deh Bandhne ka Mantra
(D) Sraddh Mantra

Who is the non-tribe living with the
tribes of Jharkhand ?

(A) Bhumij
(B) Sadan
(C) Birhor
(D) Asur

What is called ‘Head Man’ in

Santal ?

(A) Manki
(B) Munda
(C) Parha
(D) Manjhi

What is ‘Sahiya’ ?

(A) Blood relation
(B) Marriage relation
(C) Social relation

(D) None of them
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10.

11.

12.

13.

Read the following passage and
answer the five questions (Q. Nos.
10-14) given below :

“Gandhiji was in South Africa from
1892 to 1914. There he saw the
inhuman treatment meted out to
Africans and Indians by the
Europeans. When he returned to
India, he published a factual account
of his experiences. But an
exaggerated version of this was given
wide publicity in England and South
Africa and the whites got annoyed
with Gandhiji. When he came back
in Durban, mass feeling ran against
him. The Government of Natal
prevented the entry of his ship for a
few days and tried to prevent him
from disembarking.”

When Gandhiji was in South Africa ?
(A) 1892

B) 1914
(©) 1892-1914
(D) None

What he saw there ?

(A) Inhuman treatment
(B) Human treatment
(C) Animosity

(D) Nothing

Who were meted out with inhuman
treatment ?

(A) Indians

(B) Africans

(C) Indians and Africans
(D) None

When Gandhiji published a factual
account of his experiences ?
(A) When he returned to India

(B) In 1915
(C) Tn 1917
(D) In 1920
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14.

15.

16.

17.

18.

19.

Why the whites were annoyed with

Gandhiji ?

(A) Due to factual account.

(B) Because wide publicity was
given to this account.

(C) Due to exaggerated version of
this account in England and

Africa.
(D) None.
Which is called grammar of

grammar’s ?

(A) Language-Literature
(B) Linguistics

(C) Language-Culture
(D) Language-Grammar

What is the subject of Morphology ?
(A) Script and Sound

(B) Word and Meaning

(C) Morpheme

(D) Word and Alphabet

Who systemataized
Theory ?

(A) Maxmuller
(B) Sussmilch
(C) Rousseau
(D) Darwin

‘Ding-Dong’

Where is the Mother Tongue needed
most ?

(A) In University

(B) In Foreign Countries
(C) In Colleges

(D) In Primary Education

In which language the Pictographical
script is used ?

(A) German
(B) Japanese
(C) Bantu
(D) Arbi

J-70-14
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20. T, Tha, D, Dha, N are the script of

the group
(A) Dental
(B) By Lips

(C) Glottis
(D) Palatal

21. What is meaning in the context of

word ?

(A) Property (Wealth)

(B) Body
(C) Home
(D) Soul

22. Which is called Agglutinative

Language ?

(A) In which are synthesised Root
and Suffix.

(B) In which are separated Root
and Suffix.

(C) In which Root and Semanteme
are synthesised.

(D) In which Root and Morpheme

are separated.

23. In Semantics whose example is
‘Amuk Ke Pita’ ?

(A) Ashubha Parihar (Removal of
bad Omen)

(B) Shravan Sukhadata (Euphemism)
(C) Andha Vishwas (Blind faith)
(D) Byang Prayog (Irony)

24.

25.

26.

27.

28.

Which group is the most matching ?

List-I List-II
a. Arth Vistar 1. Mugdh
b. Arth 1. Akashvani
Sankoch

c. Arthadesh  iii. Mriga
d. Arthotkarsh iv. Patra
Codes :

a b c d
(A) iv i i i
B) i il i iv
O i i iv il
D) i i iv

Which is considered as ‘Pancham
Veda’ ?

(A) Ramayana

(B) Upanisad

(C) Mahabharata

(D) Puran

How many ‘Kandas’ are in
Ramayana ?

A 9
B) 5
<€ 6
) 7

To which period poet ‘Chand Bardai’
belongs ?

(A) Adhunik Kal

(B) Virgatha Kal

(C) Sringar Kal

(D) Bhakti Kal

Which magazine was published in
the reaction of Saraswati magazine of
Dwivediji ?

(A) Indu

(B) Sudarsan

(C) Nagri Pracharini Patrika

(D) Harish Chandra Chandrika
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29.

30.

31.

32.

33.

Whose statement is this ‘Vakyam
Rasatmakam Kavyam” ?

(A) Mammat
(B) Jagannath
(C) Vishwanath
(D) Shankuk

Which is the correct historical order

of Literate Books listed below ?

(A) Kirtilata, Sahitya Lahri,
Sujanhit, Ansu.

(B) Sahityalahri, Sujanhit, Ansu,

Kirtilata.

(C) Sujanhit, Ansu, Kirtilata,
Sahitya Lahri.

(D) Sahitya Lahari, Kirtilata,

Sujanhit, Ansu.

What is the main difference between
song and poem ?

(A) Ragand Tal

(B) Kala and Bhav

(C) Kalpana and Bhavna

(D) Ragand Bhav

In which ‘Dhir Lalit’ character is
depicted ?

(A) Padmavat

(B) Sursagar

(C) Ramcharit Manas

(D) Yashodhara

“Dhan Anand Jiwan Dayak ho kuch
meri yo Pir hiye parso,
Kabhu ba visasi sujan kay Angan mo
Ansuban ko lay barso.”

— Who is requested to rain in the
Courtyard of Sujan ?

(A) Vayu
(B) Ansu
(C) Badal
(D) Sujan

Paper-1I

34.

35.

36.

37.

38.

Which grouping of assertion and

reasoning is most appropriate in the

following ?

Assertion (A) Poetry is the
criticism of life.

Reason (R) Because the Poet
depicts imaginatively.

Codes :

(A) (A) is correct, (R) is not
correct.

(B) (A) is not correct, (R) is
correct.

(C©) (A)iscorrect, (R) is correct.
(D) (A) is not correct, (R) is not
correct.

What is the ‘Gun’ with which the
creation of the poet is absorbed easily
in the heart of the reader ?

(A) Prasad

(B) Oja

(C) Madhurya

(D) None among these

Who is the Author of ‘Kavya
Prakash’ ?

(A) Bharat

(B) Vishwanath

(C) Jagannath

(D) Mammat

“Jo Ghanibhut pida thi mastak me
smriti si chhai, Durdin me ansu
bankar wah aaj barasne ai.”

— Which Alankar is in this statement ?

(A) Yamak
(B) Shlesh
(C) Vakrokti
(D) Upma

How many Matras are needed in
every Charan of Chaupai Chhand ?
(A) 16

B) 13

() 11

(D) None of them

J-70-14
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39.

40.

41.

42.

43.

44.

“Kahat natat rijhat khijhat milat
khilat lajiyat, Bhare bhoun me karat
hai Nainan hi so bat.”

— What ‘Rasa’ is in this ?

(A) Viyog Shringar

(B) Adbhut Rasa

(C) Shanta Rasa

(D) Sanjog Shringar

Which is not ‘Sthayi Bhav’ in the
following ?

(A) Rat
(C) Bhay

(B) Utsaha
(D) Bhayanak

‘Sarhul’ Folk Tales belongs to the
group of

(A) Legend (Historical tales)

(B) Pari katha (Fairy tales)

(C) Myth (Dharam katha)

(D) Jadu Tona (Magic)

“Dhobi ka Kutta, Ghar Ka na ghat
ka” What is this ?

(A) Paheli (Riddle)
(B) Lokokti (Proverbs)
(C) Muhabara (Idiom)
(D) Mantra (Mantra)

‘Karam Folk Tales’ belongs to the

group of

(A) Shram Geet (Work song)

(B) Ropni Geet (Paddy Plantation
Song)

(C) Utsav Geet (Festival song)

(D) Sanskar Geet (Ceremonial song)

What is the main character of
‘Chhow Dance’ ?

(A) Mask is used
(B) Mask is not used
(C) Some use mask, some do not

(D) Dance is performed in six
number

45.

46.

47.

48.

49.

50.

Paper-1I
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When the ‘Proverb’ is used ?

(A) After a statement

(B) Before a statement

(C) In the middle of a statement
(D) Independently

In which festival Fire Walking is
celebrated ?

(A) In Dipawali

(B) In Holika Dahan
(C) None of them
(D) In Manda festival

Which is the appropriate example of
Ballad ?

(A) Seven brother and One sister
(B) Sosobonga
(C) Tale of Karma-Dharma

(D) Origin Tate of Sankh-Koyel
river

When ‘Domkach’
mainly ?

songs are sung

(A) In the rainy season

(B) In the winter season

(C) 15 days after marriage
(D) 15 days before marriage

How the animals behave generally in
the folk tales ?

(A) Like man

(B) Like Animal and bird

(C) Like man, Animal and bird
(D) None of them

Whose important gift is the Folk
Literature ?

(A) Of the ancestors
(B) Of the intellectuals
(C) Of the Kings

(D) Of the Story-tellers

J-70-14
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